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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 4th Semester Examination, 2021  

ECOACOR08T-ECONOMICS (CC8) 

INTERMEDIATE MICROECONOMICS-II 

Time Allotted: 2 Hours Full Marks: 50 
The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

1. Answer any five questions from the following:
িনmিলিখত েয-েকােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) Why demand for input is called derived demand?
উপাদােনর চািহদা েক েকন উdত চািহদা বলা হয় ? 

(b) What is ‘mixed strategy’? 
িমË-েকৗশল কােক বেল ? 

(c) Define two-person zero sum game.
dই ব°িk শূন°-রািশ েগম-এর সংjা দাও। 

(d) What are the economic effects of Trade Union?
Ëিমক সংেঘর অথর্ৈনিতক pভাব িক ? 

(e) What is Iso-Profit Curve? 
সম-মুনাফা েরখা কােক বেল ? 

(f) What is meant by reaction curve?
pিতিkয়া েরখা বলেত িক েবােঝা ? 

(g) Why supply curve of labour is backward bending?
Ëেমর েযাগান েরখা েকন পůাদমুখী হয় ? 

(h) Differentiate between firms demand and industry demand.
ফােমর্র চািহদা ও িশেlর চািহদার মেধ° পাথর্ক° কেরা। 

   

2. Answer any four questions from the following:
িনmিলিখত েয-েকােনা চারিট  pেűর উtর দাওঃ 

5×4 = 20

(a) ‘Nash equilibrium is not necessarily unique’- Explain.
‘ন°াশ ভারসােম°র অনন°তা সতত সুিনিůত নয়’- ব°াখ°া কেরা। 

(b) A monopsonist uses only one variable input, labor(x), to produce her output q, 
which she sells in a competitive market at a fixed price P = 2. The production and 
labour supply functions are 32 02.0–36 xxxq and xr 360 respectively. 
Determine the value of x, q and r at which she maximizes the profit. 
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েকােনা একেচিটয়া েkতা একিট উপাদান (x) ব°বহার কের dব° (q) উৎপাদন কের। q এর বাজার 
pিতেযািগতা মূলক এবং এর বাজার মূল° P = 2, উৎপাদন আেপkক ও Ëেমর েযাগান আেপkকgিল 
যথাkেম 32 02.0–36 xxxq এবং xr 360 , উৎপাদেকর মুনাফা সেবর্াcকারী x, q এবং r 
এর মান িনণর্য় কেরা। 

(c) State the assumptions of the Cournot’s solution.
kেনর্া সমাধােন েপৗঁছােনার েপছেন অনুিমত শতর্gিল িক িক ? 

(d) What is first movers advantage? Explain with an example.
pথম পদেkপকারীর সুিবধা বলেত িক েবাঝায় ? একিট উদাহরণ সহেযােগ ব°াখ°া কেরা। 

(e) ‘Labour exploitation occurs in the monopoly market’- Explain.
‘Ëিমেকর েশাষণ একেচিটয়া বাজাের ঘেট’- ব°াখ°া কেরা। 

(f) Show that elasticity of supply of an input governs the level of rent.
েদখাও েয উপাদােনর েযাগােনর িsিতsাপকতার ওপর খাজনার পিরমাণ িনভর্র কের। 

(g) Distinguish between rent and quasi-rent.
খাজনা ও আধা-খাজনার মেধ° পাথর্ক° কেরা। 

  

3. Answer any two questions from the following: 
িনmিলিখত েয-েকােনা dিট  pেűর উtর দাওঃ 

10×2 = 20

(a) “Rent is not income of a particular factor of production but merely an aspect of an 
income of any factor of production”. –Explain. 
‘খাজনা েকােনা একিট িবেশষ উপাদােনর আয় নয়, এিট েয-েকােনা উপাদােনর আেয়র একিট িবেশষ 
অংশ’- ব°াখ°া কেরা। 

10

(b) What is Cartel? Use prisoner’s dilemma to explain Cartel Instability.
কােটর্ল িক ? বnীেদর dদর্শা (prisoner’s dilemma) এর মাধ°েম কােটর্েলর sািয়েtর িবষয়িট 
আেলাচনা কেরা। 

2+8

(c) In a competitive set-up derive the firm’s demand curve for a variable productive 
agent when more than one variable input is used. 
pিতেযািগতামূলক েpkাপেট একিট পিরবতর্নশীল উপাদােনর চািহদা েরখা িনণর্য় কেরা, েযখােন 
উৎপাদন pিতŸানিট একািধক পিরবতর্নশীল উপাদান ব°বহার কের। 

10

(d) ‘If all the markets in an economy are perfectly competitive, Pareto efficiency will 
automatically be reached’–Do you agree with this statement? Give reasons. 
‘েকােনা অথর্নীিতর সমs dেব°র বাজাের যিদ পূণর্ pিতেযািগতা বজায় থােক তাহেল প°ােরেটা দkতা 
sয়ংিkয়ভােব অজর্ন করা সmব’- tিম িক এই বkেব°র সােথ সহমত েপাষণ কেরা? যুিk সহকাের 
ব°াখ°া কেরা। 

10

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script.  

 
——×—— 
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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 4th Semester Examination, 2021  

ECOACOR09T-ECONOMICS (CC9) 
INTERMEDIATE MACROECONOMICS-II 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. 
Candidates should answer in their own words and adhere to the word limit as practicable. 

All symbols are of usual significance. 
 

1. Answer any five questions from the following:
িনmিলিখত �য-�কােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) What is the difference between transaction theories and Portfolio theories of 
demand for money? 
আিথ�ক চািহদার মজুত-তtt ও তহিবল তেttর মেধ° পাথ�ক° িক ? 

(b) What is meant by Precautionary demand for money?
সতক�তামূলক আিথ�ক চািহদা বলেত িক �বােঝা ? 

(c) What is growth accounting? 
আিথ�ক Ëীবৃিd গণনা বলেত িক �বােঝা ? 

(d) What is meant by intertemporal budget?
আnস�ময়কালীন বােজট কােক বেল ? 

(e) How an investment tax credit may influence investment decision of a firm? 
িবিনেয়াগ কর-ঋণ িকভােব ফােম�র িবিনেয়াগ সmিক�ত িসdাnেক pভািবত কের ? 

(f) What do you mean by consumption puzzle?
�ভাগজিনত ধাঁধা বলেত িক �বােঝা ? 

(g) What is Solow residual? 
Solow-র অবিশŶ বলেত িক �বাঝায় ? 

(h) What is meant by ‘Warranted Rate of Growth’ in Harrod’s growth model? 
হ°ারেডর আিথ�ক pগিত িবষয়ক pিতকেl ‘কাম° pগিতহার’ বলেত িক �বাঝােনা হয় ? 

  
2. Answer any four questions from the following:

িনmিলিখত �য-�কােনা চারিট  pেűর উtর দাওঃ 
5×4 = 20

(a) What is steady state? Derive the steady state condition in the Solow growth 
model. 
িsিতশীল ভারসাম° অবsা বলেত িক �বােঝা ? Solow-এর উnয়ন মেডেল িsিতশীল ভারসাম° 
অবsার শত� �বর কেরা। 

(b) How will you relate the concept of Tobin’s q with the investment decision of 
firms? 
Tobin-এর q তttিটর সােথ ফােম�র িবিনেয়াগ িসdাnেক tিম িকভােব সংযুk করেব ? 
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(c) Write a short note on Acceleration Theory of Investment.
িবিনেয়ােগর tরণ তেttর ওপর একিট টীকা �লেখা। 

(d) Explain how an individual chooses between present and future consumption using 
a life time utility function. 
একজন ব°িk িকভােব বত�মান এবং ভিবষ°েতর �ভােগর পিরমাণ আnরসময়কালীন উপেযািগতা 
অেপkেকর মাধ°েম িনধ�ারণ কের ব°াখ°া কেরা। 

(e) Distinguish between the cases of a risk-averting plunger going for all bonds and a 
risk-loving investor. 
Ɉঁিক-পিরহারী িবিনেয়াগকারী িযিন সমs সmদ sক/বn-এ িবিনেয়াগ কেরেছন তাঁর সেñ Ɉঁিকেpমী 
িবিনেয়াগকারীর সmদ বĊন pিkয়ার পাথ�ক° িক ? 

(f) Do you think that transaction demand for money is interest sensitive? Explain. 
tিম িক মেন কেরা �য অেথ�র �লনেদন চািহদা সুেদর হার dারা pভািবত হয় ? ব°াখ°া কেরা। 

  
3. Answer any two questions from the following:

িনmিলিখত �য-�কােনা dিট  pেűর উtর দাওঃ 
10×2 = 20

(a) How do you derive the investment function using neo-classical model of 
investment? Using this theory, trace the impact of the following on investment: 
(i) An earthquake or war  (ii) Improvement of technology 
িবিনেয়ােগর নয়া সনাতনী তtt ব°বহার কের িকভােব িবিনেয়াগ অেপkক িনধ�ারণ করেব ? এই তtt 
ব°বহার কের িবিনেয়ােগর উপর িনmিলিখত িবষয়gিলর pভাব িনrপণ কেরাঃ 
(ক) ɛিমকm বা যুd  (খ) নব° আিবŴােরর ফেল pযুিkর উnিত 

6+2+2

(b) Explain why individual speculative demand for money is a ‘step function’ while 
the aggregate demand for money schedule is downward sloping. 
অেথ�র ব°িŶগত ফাটকাজিনত চািহদা একিট ধাপ অেপkক যিদও অেথ�র সামিgক চািহদা �রখা 
িনmগামী। ব°াখ°া কেরা। 

(c) What do you mean by Golden Rule Level of capital accumulation in the Solow 
Growth model? Derive the condition that describes the Golden Rule. 
Solow-র উnয়ন মেডেল মূলধন পুĂীভবেনর sণ�াভ িনয়মিট বলেত িক �বােঝা ? এই িনয়মিট 
িকভােব িনণ�য় করেব ? 

5+5

(d) Briefly explain: 
(i)  Demonstration Effect and 
(ii)  Ratchet Effect on consumption as stated by Duesenberry in his Relative 

Income Hypothesis.  
�ভাগসmিক�ত tলনামূলক আয় pিতকেl ডেসনেবির �ভাগব°েয়র উপের  
(ক)  pদশ�ন pভাব এবং 
(খ)  ‘র °ািচট’ pভাব িকভােব ব°াখ°া কেরেছন ? 

5+5

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script.  

 
——×—— 
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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 4th Semester Examination, 2021 

ECOACOR10T-ECONOMICS (CC10) 

STATISTICAL METHODS FOR ECONOMICS-II 
Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

1. Answer any five questions from the following:
িনmিলিখত েয-েকােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) With example define a random variable.  
উদাহরণ সহেযােগ সমসmব চলক-এর সংjা দাও। 

(b) From a full pack of cards, if 3 cards are taken at random, what is the probability 
that all are of different denominations?  
তােসর একিট সmূণর্ পয্াক েথেক 3িট তাস েনওয়া হল, pেতয্কিট তাস পৃথক নmেরর হওয়ার 
সmাবনা কত ? 

(c) If two events A and B are independent, then show that cA  and cB  are also 
independent.  
যিদ A ও B dিট sাধীন ঘটনা হয় তেব েদখাও েয cA  এবং cB  ও dিট sাধীন ঘটনা হেব। 

(d) Define uniform distribution.  
Uniform িনেবশেনর সংjা দাও। 

(e) For a Poisson distribution )1()0( XPXP . Find )0(XP .  

একিট পয়জন িবভাজেন )1()0( XPXP  হেল )0(XP  িনণর্য় কেরা।  
(f) The joint probability distribution of two variables X and Y is given below, 

dিট চলরািশর মেধয্ সংযুk সmাবনাপুĂ অেপkক েদওয়া আেছ, 
 0 1 

0 1/8 1/8 
1 1/8 5/8 

Evaluate the marginal distribution of X. 
X-এর pািnক িনেবশন িনণর্য় কেরা। 

(g) Define probability sampling.  
সmাবনা নমুনা চয়ন পdিত কােক বেল ? 

X 
Y 
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(h) A simple random sample of size 36 is drawn from a finite population of 101 units. 
If the population S.D. is 12.6, find the standard error of sample mean when the 
sample is drawn with replacement.  
একিট 101 আয়তন িবিশŶ সমgক েথেক একিট 36 আয়তন িবিশŶ সরল সমসmব নমুনা চয়ন করা 
হল, যিদ সমgক-এর সমকিবcয্িত 12.6 হয় এবং সরল pিতsাপনেযাগয্ সমসmব নমুনা চয়ন পdিত 
অনুসরণ করা হয়, তাহেল নমুনা গেড়র সমক Çািn িনণর্য় কেরা। 

  
2. Answer any four questions from the following:

িনmিলিখত েয-েকােনা চারিট  pেűর উtর দাওঃ  
5×4 = 20

(a) Two cards are drawn from a well-shuffled pack of cards. Show that the 
appearance of a king and the appearance of a spade are independent.  
ভালভােব েফটােনা একিট তােসর পয্ােকট েথেক dিট তাস েনওয়া হল, pমাণ কেরা একিট তাস 
ইsাপন  ্  হওয়া ও একিট তাস সােহব হওয়া sাধীন ঘটনা। 

(b) Find mean and variance of Poisson distribution.  
পয়জন িনেবশেনর pতয্াশা এবং েভদমান িনণর্য় কেরা।  

(c) Define ‘probability distribution function’ of a random variable. Explain joint 
probability density function.  
েকােনা সমসmব চলেকর সmাবনা িনেবশন অেপkক কােক বেল ? যুg সmাবনা ঘনt অেপkক 
বয্াখয্া কেরা। 

2+3

(d) The height distribution of adult males of a certain race has mean 165 cm and 
standard deviation 6 cm. Find the probability for an adult male to have height 
below 158 cm, above 175 cm, and between 150 cm and 180 cm. Assume that 
heights are normally distributed [Given Ф(1.167) = 0.8784, Ф(1.667) = 0.9522, 
Ф(2.5) = 0. 99379]  
pাpবয়s পুrষেদর উcতার িবনয্াস এমন েয তার গড় 165 েসিম এবং সমকিবcয্িত 6 েসিম, 
সmাবয্তা িনণর্য় কেরা েয একজন বয্িkর উcতা 158 েসিমর কম, একজন বয্িkর উcতা 175 
েসিমর েবিশ, একজন বয্িkর উcতা 150 েসিম েথেক 180 েসিমর মেধয্, এখােন ধরা হেয়েছ েয 
উcতা sাভািবক িবstিতেত আেছ [েদওয়া আেছ Ф(1.167) = 0.8784, Ф(1.667) = 0.9522, 
Ф(2.5) = 0. 99379] 

(e) Distinguish between SRSWR and SRSWOR.  
SRSWR এবং SRSWOR পdিত dিটর মেধয্ পাথর্কয্ িনণর্য় কেরা। 

(f) Briefly discuss principal steps in sample survey.  
নমুনা চয়ন পdিতিটর pধান ধাপgিল সংেkেপ আেলাচনা কেরা। 

  

3. Answer any two questions from the following:
িনmিলিখত েয-েকােনা dিট  pেűর উtর দাওঃ 

10×2 = 20

(a) (i) X, Y and Z are three random variables so that X and Y are independent and 
XYZ , X can take two values 10 and 20, and the probability that 10X  

is 31 , Y can take three values: 5, 6 and 7. The probability that 5Y  is 41  
and 6Y  is 21 . Find the expectation of Z. 

 X, Y ও Z এমন িতনিট সমসmব চলরািশ েয X ও Y sাধীন এবং XYZ , X-এর dিট মান 
10 ও 20. 10X  হওয়ার সmাবনা 31 , Y-এর মান 5, 6 ও 7 হেত পাের, 5Y  হওয়ার 
সmাবনা 41  এবং 6Y  হওয়ার সmাবনা 21 । Z-এর pতয্াশা িনণর্য় কেরা। 
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 (ii) Find the probability that in a family of five children there will be at least one 
boy. 

 পাঁচজন িশǖ আেছ এমন পিরবাের অnত একজন িশǖ েছেলর সmাবনা িনণর্য় কেরা। 

4

(b) (i) A binomial distribution has mean 4 and standard deviation √3. Is the 
distribution bimodal? Explain with reason. Find mode of the distribution. 

 একিট িdপদ িবভাজেনর গড় মান 4 এবং সমক িবcয্িত √3। িবভাজনিটর িক dিট সংখয্াgr 
মান আেছ ? যুিk িদেয় বল, িবভাজনিটর সংখয্াgr মান িনণর্য় কেরা। 

3+2

 (ii) Show that Poisson distribution is positively skewed and leptokurtic. Write 
down the p.m.f of a Poisson variable with coefficient of variation 2% . 

 েদখাও েয েকােনা পয়জন িবভাজন ধনাtক pিত �বষময্ যkু (positively skewed) এবং 
leptokurtic. একিট পয়জন চেলর সmাবনা ভর অেপkকিট েলখ যার েভদাì 2% . 

3+2

(c) (i) Define bivariate normal distribution. State two properties of this distribution. 

 িdচলক সাধারণ িবভাজন কােক বেল। এর dিট �বিশŶয্ েলেখা। 

3+2

 (ii) Is the following a joint probability density function? If yes examine whether 
the variables are independent or not. 

 নীেচর অেপkকিটেক িক যুg সmাবনা ঘনt অেপkক বলা যায় ? যিদ তাই হয় তেব পরীkা 
কেরা X এবং Y  চল dিট sাধীন চল িকনা ? 

  yexyxf )1)(32(),(  0,10 yx  

   = 0  elsewhere 

2+3

(d) (i) What is standard error of a statistic? 

 একিট statistic-এর সমকÇািn কােক বেল ? 

2

 (ii) The marks of 5 students in Economics are 20, 24, 20, 30 and 26. Random 
samples of size 2 are drawn without replacement. Calculate )(xE  and 

)(xSE . How far the values of )(xE  and )(xSE  change if samples are 
drawn by “with replacement” method? (Here, x  sample mean) 

 5 জন ছােtর অথর্নীিতেত pাp নmর 20, 24, 20, 30 এবং 26 এখান েথেক SRSWOR 
পdিতেত 2 সদসয্িবিশŶ সমসmব নমুনা সংgহ করা হল )(xE  এবং )(xSE -এর মান িনণর্য় 
কেরা, যিদ SRSWOR পdিতেত নমুনা সংgহ করা হত, তেব )(xE  এবং )(xSE -এর মান 
কতটা পিরবিতর্ত হত ? ( x  নমুনা গড়) 

8

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script.  
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